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1. yJtfpaet yms u3d € HY U8 3 »mye 9% 499 799 fauel

2. fqurddd yHs U373 2 8= 1 yrs U373 © I8 U »3 98 mis B9 It 96 fAgs fa vy Js T /g 3
Bug fgy Jre I8l fog St 29 B2 fq ¥ H9 gHRT fed JT Jal
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5<: (i) 78 YAS AgdT I8 »id YHST © AIHS 83 I I3l

-

(ii) yIa HitpT (24) T feasy Ja| feat &9 fan fia fegsy € yas' © 39 It << 5

(iii) feuret HU, Heg w3 YS-4&t 996 ¥ 736 J91 IS 84 yra' € §39 fia ¥ <9 fsul

&< : J& fou yms & 8739 feq =9 39 8y - 1x8=8

1. ‘fHoa wfog™ o fdar fams fsfawr 32

2. g8 Il &9 queEsd MuE »y § Fed fag” afder g7

3. ‘Wt T forre’ Fuet fS9 9 wigwg, ‘Tfg 99 3 d< 3I=7 J 3 A< &7

4. 98<3 Iraat & YA ‘JIHS' T ofaddt U faws Yaws 13T Hi?

5. ‘Wfenw T Heu A3 fan fegn a5 afawr Ifent J72

6. feqiaft f&g gar #ff 3y § fam &t qo<t Aee I&?

7. HI-YIH' © YHIT - T § < wrl faus @ & 397 yuar &9 fenr@e 37 89 o
MYTET I&?

8. YAl g fE9 239 € U9 3 fdal 3T € Y9s I U T I&?
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& : IS T84 yHaT & 8739 st Adt feasy ged et §739 yrsdr 49 fsi:

9. 99 57%d ¥= At & g wigH9 ‘wfa-f&ET fam I = yFiw 97
(A) gJE =

(B) H3 =
(C) wHlg & =7
(D) @elld ST =7

10. ‘g fau &t f&dt gat 92

(A) H: I939 fAw I <t
(B) H: ma& fRw <t

(C) W: &&x fifw <t

(D) W: Jowuw frw i3sdt <t

11. ‘fiad” wigAg On <t ‘g’ 3 d= 332 I?

-

(A) W3

(B) €J=d 3d
(C) <fdw3

(D) <3

12. #d1 < Fes fI9 ‘f9e 33 @ ot 3wy Jer I°2
INEREIRCERIIO U
(B) IAST
(C) W FI&7

(D) Wy Het

13. I8 T AH IS fam T wicdt 9t agd & wirfon /7
(A) WI I fam 7 =
(B) fam g2 =
(C) f&a wigz =
(D) IY <7
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fan 3 39 saer T2

14. ‘UHt @ fonre’ ot fag dfon

(A) HeAS T 3

(o

(B) IS 3
(C) IH 3
(D) U&& 3

15. N& He< ¥ Hdt feasy ot 97

(A)  T=37

(B) fusst

(C) wWI-THsWY
(D) WS

S Y o S S N pv

16. %9’ T HET UAg @ W3 © fag3 fema fag &9 J7
A) UfewsT © &3
(B) =f&3 T &3
(C) T8 < &3
(D) foA3 < &3

(o] faXel

17. Y& W< fan § IfJe I&87

A) Tagg fan 39 wee <t "ofesT &% g Jal

(B) fHI=Z © We<™ © 13 3% g3 J4l

() gz fan € "ee < AofesT 3 fasr »ue »y g I8l

(D) fAgs © wee' 3 4 Id g Tal

18. HY< J9&° 3 of = J?

A) wIer 3 It = &t 395 It T

(B) fa wu= 3 T wue s=Gs < fafowr Ji

(C) wo< T feH39 WI< II& I JI

(D) WI=T T -4 W § HE< JI&" T 7 J
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19. &2 : J& oy yws' & €739 30-40 wye' f&9 foy: 2x10=20

(@) JJ &ad € 1 & gt ‘A He THST Wl IF w9 me femg § v
e o9 foul

(b) ‘“wiF »T TIR 7§ T g AuY fI9 fed

(© W: &g AW & ‘g Fget f&g Ut Afgnreg &9 fam 9 § fan Yo
fazfanT I2

(d) ‘Wt T foiE ot feg g gt a2 feg afder I fa vyt =rfag-erfagg’
I 9% A= A" 8 oft €739 fadt I2

(€) ‘om ymHr yfenrl 3 Far ge O fenrGe feg s de fam § faw = o

1
gt
(al

It I?

() 7 I9guw fiw I3 3 wgAg G & Tt ft = yoEsr % JHIT fdd
faar H?

(g) ot = Yadh® 89 ‘g9 wIdt Hft § o fezaw I7

(h) 3913 = Ay adht &t fam 918 @8 I72

(i) feasft f&9 '3 Ten 3 fUe & »igs I I #t 6w ¥9 Iy gy § ot
AT J?

~ ~

G fSt e dardt ynsa € fa93-faos yamad I67

20. &< : J& &y yws' € 8739 100 - 125 wee' 29 fau: 5x3=15
(@) W: JouHw fAw yi3sadt #t 3 ‘=93 & du9’ v &9 & maar fid3T J7
(b) ‘It wadhr H fegiaft € vy yt39 ‘g Ht T yt39 9398 44l
(©

HI3AT € W&’ &t HJ33™ 979 o Uar fsu|

21. I3 fog yms' € €39 150 - 175 wee' f39 fay: 8x2=16
(@) g3 &t I 3B dfesT &9 3 #7939 & fan I8 &t =aws idt I, On
g fousdt wyE meet 39 a9l
(b) ‘UEIT T HYES Ad& Bfomft fEd AH faadd ISt T fors Jue deT J7?

22. J& fou fefipr fed fea fen '3 Sargar 200 we=' T 3y f&4: 10
(@) wHH 9 fersdt T A5l
(b) ygue & AHHT
() »auz3 fed B3|
(d) &% TdhT A9 AAT
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23. fan Ut »HEg € Aued § U39 foud goHa wiefon’ 38 983 593 milag d¢
Ja=gT B g&3t 9l 6
A

fodl 78993 @ IwidHs & Sadl U3d foya wnve fesd fag ust & nrs

THIT 7 o €7 © I8 336 St S8t J4

LY N fald

24. I3 fou yms' &9 fan g fegsy @ €39 100 - 125 wee' &9 fau: 5x3=15

(@) ‘wizee’ IS wit HA9 2 39 Afeweet 3% fa? ATE Ut WA T

(b) TSHMT d< Jer I7? femw &t e 83 fam <@ Jf 37 7 <t o ot fanedt
gt T2

() WX wig=ex’ (IH3IS) Hivd w3 foudt wisgeea 9 ot »izg I72

ey

(@) offd AH 39 fas a0 Iz wiovd I, fer g9 Hay 39 b

(b) Ut Hfgnmarg S »m gdht It § Ut Szt & fa= um iz I7

() VAt wfozs feg ity fefsam Aedt aea fam sedaa & &y 787 5x3=15

* k&
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